Inspection Services Permit Fee Schedule

Any Paper Application submitted will be charged an additional \$25 for administrative services to attach on-line

Building Permit request for Solar, siding, and pools will require submittal of an electrical permit prior to the issuance of the building permit.

Residential Building

New construction (1 & 2 family) \$ 40 base fee + \$15/\$1000 of total job cost

Additions/alterations/Solar panels \$ 40 base fee + \$15/ \$1000 of total job cost

Certificate of Occupancy \$ 50/unit

Demolition of Dwelling or structure \$ 40 base fee + \$15/ \$1000 of total job cost

Mechanical \$ 40 base fee + \$15/ \$1000 of job cost

Sheet Metal \$ 40 base fee + \$15/ \$1000 of job cost

Work begun without Permit Double Permit Fee

Failed Inspections \$ 50/re-inspection

Commercial Building

New Construction (including 3 family +) \$ 50 base fee + \$20/\$1000 of total job cost

Additions/Alterations \$ 50 base fee + \$20/ \$1000 of total job cost

Certificate of Occupancy \$ 50/unit

Certificate of Inspection \$ 50/Annual

Multi-Family Inspections \$ 25/unit

Fire Escape Inspection \$ 50/inspection

Demolition of Structure \$ 50 base fee + \$20/ \$1000 of total job cost

Mechanical \$ 50 base fee + \$20/ \$1000 of job cost

Sheet Metal \$ 50 base fee + \$20/ \$1000 of job cost

Work begun without Permit Double Permit Fee

Failed Inspections \$ 50/re-inspection

Effective

Residential Electrical

New Construction (1 & 2 Family)

0-2500 square feet \$ 300.00

Each additional 1000 square feet \$ 100.00

Alterations/Additions \$ 40 base fee + \$15/ \$1000 of job cost

Service Change up to 200 Amp \$ 50/meter

Service Change 300 Amp \$ 75/meter

Service Change 400 Amp \$ 100/meter

Vinyl Siding \$ 55

Above Ground Pools \$70

In-ground Pools \$ 125

Solar Panel Installation \$ 40 base fee + \$15/ \$1000 of job cost

Alarm System (hard wired only) \$ 40

Appliance Replacement \$ 35

Work With-out Permit Fee Double Permit Fee

Failed Inspection \$ 50/re-inspection

Commercial Electrical

New Construction (including 3 Family) \$ 50 base fee + \$20/\$1000 of job cost

Alterations/Additions

Cellular Antennas (new or replacement) \$ 500/ Antenna

Tele-Communication Systems \$ 50 base fee + \$20/ \$1000 of job cost

\$ 50 base fee + \$20/ \$1000 of job cost

Group Metering \$ 150 for 1st Meter

Additional Meters \$ 50/ Meter

Solar Panel Installation \$ 50 base fee + \$20/ \$1000 of job cost

Annual Maintenance Permit \$ 250

Work With-out Permit Cost

Failed Inspection \$ 50/re-inspection

Effective

Residential Plumbing

Fixtures \$ 50 base fee + \$25 per fixture

Underground Inspections (Min.1) \$ 50 per inspection

Gas water heater (new or conversion) \$ 50 + gas permit

Gas water heater (replacement) \$ 50 + gas permit

Electric water heater (new or conver.) \$ 50 + electrical permit

Electric water heater (replacement) \$ 50 + electrical permit

Demolition Only \$ 50 per inspection

Backflow \$50

Re-inspection \$ 100 per inspection

Work without permit Double Fee

Failure to call for Insp. within 10 days \$50

Sewer connection \$ 100.00

Commercial Plumbing

Fixtures \$ 100 base fee + \$35 per fixture

Underground Inspections (Min. 2) \$ 100

Gas water heater \$ 100 + gas permit

Electric water heater \$ 100 + electrical permit

Demolition Only \$ 100 per inspection

Backflow \$ 100

Re-inspection \$ 125 per inspection

Work without permit Double Fee

Failure to call for Insp. within 10 days \$100

Sewer connection \$ 100

Residential Gas

Appliances \$ 50 base fee + \$ 25 per appliance

Heating system only \$ 50 base fee + \$ 25 per system

Re-test \$ 50 per test

Gas water heater \$ 50 + plumbing permit

Re-inspection \$ 50 per inspection

Work without permit Double Fee

Failure to call for insp. within 10 days \$50

Commercial Gas

Appliances \$ 100 base fee + \$ 35 per appliance

Heating system \$ 100 base fee + \$ 35 per system

Re-test \$ 100 per test

Re-inspection \$ 100 inspection

Work without permit Double Fee

Failure to call for ins. Within 10 days \$ 100

Plan Review Fees for Commercial Projects

Estimated value of project:

\$50,000-\$500,000 \$ 250

\$500,001-\$1,000,000 \$500

\$1,000,001- \$5,000,000 \$ 1500

\$5,000,000 plus \$200/additional \$1,000,000

Signs

Wall Signage \$ 5/per sq. ft.

Ground Signage \$ 5/per sq. ft.

Temporary \$ 4/per sq. ft.

Weights and Measures

Scales

over 10,000 lbs.	\$ 100
5,000-10,000 lbs.	\$ 75
1,000-5,000 lbs.	\$ 75
100-1000 lbs.	\$ 50

\$ 25

0-100 lbs. **Weights**

Metric	\$ 5
Apothecary	\$ 5
Troy	\$ 5
Avoirdupois	\$ 5

Liquids

Gasoline Meters	\$ 25/meter
Adjustments	\$ 15/meter
Vehicle Tank Pumps	\$ 50
Oil and Grease Pumps	\$ 25

Scanners

1-3 terminals	\$ 75
4-10 terminals	\$ 150
11+ terminals	\$ 250
Mico	

Misc:

Taxi meters	\$ 25
Bottle returns	\$ 20
Bulk Storage	\$ 40
Yard Sticks	\$ 10
Fabric Measure	\$ 15
Re-inspection fee	Full Inspection Fee

Effective